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[El—Jean example

[a b c]::[ZES]

Minimize 2 2 2 subject to
b:=x 4y +z J x2 y2 22
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2 2 2
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YVi=x+4+y—2z
"Lagrangian" L:=®+A-04+pu-v
F(X):= — — — -
fX::d—L X‘(4+A)+2‘V ( ) [X~—X1Y~—X22~—X3)\._X
d x > .
fy::d I 2.y (5+A)+5-u [fX fy fz fA fp]
dy 5
<fZ::d—L=< 2'2'(25+A)—25-p
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d
= 2 2 2
fA._dAL 5_[5.{_4+X ]+4.y ]+4.Z
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“4n X+y—z
X
1
x 2 1.5738
21 | -1 ~1.3771
Xo:=roots|F(Xx), X5, | 0 [|=]| 0.1967
X —4 —4.4118
4 1 0.324
X
5
t =4 — U)=
max [ U Roots |:=Draghilev|F(X), Xo, 0, t ., 10,10 2 rows (U)=11

Roots =[1.5738 —1.3771 0.1967 —4.4118 0.324]




